LM EMEIR/ NS B8 B BE G

ERE T | BEEWUR] AR | TUELR
BMACR | BEERRA 4 F (FE—HR) HEOH | BB 112 £ 12 H 4 H
SRETE PIRE EEM e B | TUEEHIH=E
BEE PIRE EEM HERGRY | 40 S8
WEEE | BT EET
i EEL S [ O R AN
=E
ERAT > ER R T A4 i
SR TTE EIER - HE AR
R TSRS o e A E AR
i o
P —rEmA
T B B A Rk
—{# - A& ABIRIERT
0
figE— ETEEAMEG S > B - B4 | fEsTwmHEEEN | #eas
drtieFEE RN > M | IREEE - SHEPENES | ke #-E-B1
MET 120 JTTHYHURER ~ | 120+70=190 BEEEH ACHYAE | #eec2
70 TTHIRREERT 200 TTHE | 190-+200=390 P
B HIETHT?
F—{EE s K - BaA s H—(EHE FEA—EEXE
120+ 70+ 200 H2k o
=190 +200
=390
%1390 7T
AE— EEAEAEM TR > 5 - 24 | FERTEmEAEEN | %ea3
PO T 325 IRESE > | IRBEE > SHmESENER © | k- #E-B1
F—REHF125FR » 5 | 325—125=200 REsEH EH AR | rec2
KEF] 150 fR > st | 200—150=750 P
BT AIRERE 2
F—(EE K - EhmE—HEN A —EERE
325—125—150 A
=200— 150
=50
S0
Bar AR S B
e
E= EEEEAEMES > B5% 2 | ERE—EE $-E-A3
— A ERFEOKE 850 AR EER = TEHE BE-B1




7T —HEM R —f
LRFEREE 250 7T 0 %
BRI E{THIT 7 21
AR EREGED R -

ArREDY

KE EJFA 145 @A - F
UEEA 39 MALE - A
12 fEL AR - BRAEKE E
AREA ? FEHOER —E
FE AR -

T ¢
TE A IR SR
o FEATTA
SBHIEE -

el E -

LSS HEEEN A

b BA 648 i - Lk
H 592 & - BRAEA 1040 {E
NSERRE] - A RE A
AT ? AR —(E
HEE K -

B U ARRREEE R
F'cﬁ;i

g

%%ﬂlj 192 {EFEA - 73R
NEWE BT 8&
FRE AR A 7

A—EFEAEC T -

RN

| SEFEE 4 (8 - ZAT

Eﬁ’? 6 & 0 Porka 3 dHA
» A AT LU RS (BT

@ﬁﬁ ? fEUAR —E R

ERl N

LR AR E R -
AR RRREHIER
oo FfEmA - ——
BHUETE -

S

850—250+850
=600+ 850
=1450
1450 7T

EBNEER LA T
ERH—ERE
145+39—12
=184—12

SR

172 {E

PO HEEER - WiEC MR EEL -

SRR > EETIER A I

K2z o

[=S
648+592—1040
=1240—1040
=200

& 1200 {

CHIFEEAEM O > 85 - 824
RIEEE %Hﬂﬂl*%ﬂ’]?ﬁ‘t
192+32=6

6x8 =48

B2ARH—EEL :

192+32x8

=6x8

=48

B A8

CHIFEERAEMHE > 5%k 2
AEH—EER

463

=243

=8

& 81

R > A RS -

A HTIRRE - SRS A S

i

SEmst—
3
% °

f%ﬁ
%

—

%ﬁ} =3 ?r”r‘?
= EE
m |
EE

B P — (BT 5

B 5 (5
3 - WS

$-E-C2

$-E-A3
$-E-B1
#-E-C2

B-E-A3
H-E-B1

$-E-A3
$-E-B1
#r-E-C2

#r-E-A3
#-E-B1
#rE-C2

#-E-A3
#-E-B1




1~ 84+7x9 1 ~ 84+7x9 B HH—(EE

=129 = AFHE
=108 E-
2~ 36%x6+8 2~ 36x6+8
=216+8
=27

3~ 18 126 BEARKFEST | 3~ 126595
A9 BIARE » BT S =14x5

Bl REREEEARK? | =70
AR —EESGE T %7058
5}5 o




